Assembly instructions | N2 NINIIN

np7nn NYINT7 Ni7an WNT - M5x12 - |78 012 1D"OD M5 nporT WNT - M5X35 - |78 1012
- P'n20 93 Spicer Flat Washer M5 DIN- N9
Anti-slip foot 20 mm  Button Head Socket 125 (Galvanized) Button Head Socket

Cup M5x12 DIN-7380 Cup M5x35 DIN-7380

AM-RHT-D-1 | AM-RHT-D-2 | AM-RHT-D-3




03

04

0NINN 72 212N 7 TY 7002 WD, NWIKATID DNINTREATRL AWK NITNT AIDNIAD |IN 12NN NININ
g7

*The assembly instructions do not refer to personal sizes, if you ordered a personal size,
continue the process until all the holes are connected to the wall.



